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Pos # Piloto Casc Nac Pts .1° 1° 23410
1° [ 1 S.Vettel j.} 281 1 5
2° | 5 F.Alonso Eeas 278|303 3
3° [ o KRaikkonen G- g 207| 74 71 1
4° | 4 LHamiton  ssEkS 190 4
5° | 3 J.Button BS 3
6° [ 2 M.Webber p)
7° | 6 F.Massa r,
8° | 10 R.Grosjean
9° | 8 N.Rosberg g
10°| 15 S.Pérez e
11°| 12 N.Hulkenberg —
12°[14 KKobayashi  #ul] @
13°| 7 M.Schumacher i mm—
14°| 11 P.DiResta s
18 P.Maldonado
16°| 19 B.Senna E
17°| 17 J.Vergne 265 14 4
18°| 16 D.Ricciardo 2711 6 6
19°] 20 H.Kovalainen ﬂ 281 10
21 V.Petrov 281 10
24 T.Glock 281 10
25 Ch.Pic [ | 281 10
22 PDelaRosa  giggld | 281 10
23 N Karthikeyan zﬂ 281 10
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